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Underlying Event

Rivet 3.1.0, > 6M events

900 GeV pp

_l Tt T T T T | Tt T T T T | T | B
N> density wrt of leading track(|n| < 2.5, p >0.5GeV,p_>2 Ge\
1.2 — ]
B B ATLAS 7
~  --0-- Herwig++ 2.7.1 default N
1 [ --3-- Herwig 7.2.0 default ]
| —&— Pythia 8.301 default _
| --¥-- Pythia 8.301 vincia-default —
— ¢ Sherpa 2.1.1 default —
0.8 — ]
L 47
agm_

0.6 4, N A
| " .'. (> 1
B e L it
04 B I‘v v . ... ...... =] ]
— (o ff Tttt o o g -

Yy EA=I=1E s A4

B T Yy vrvyvevr ey YT 7]
0.2 — ]
S O L O S S
2 =
B N _
IR AL Tl XTI PP $4944094. 00 _
0.5 _

left|gright| (w.r.t. leading track) [rad]

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


